Russian, Book 2 Russian Through Propaganda

Day 74 the instrumental plural

Wivsa, hamunms:

@ Supply forms in the instrumental singular.

1. OH cTan N3BECTHbIM (aKTEP) . 4. Bbl 3HakOMbI C ero (oTew) ?
2. OHa cTana n3BecTHOM (akTpuca) . 5. 4 rosopr ¢ (agas) n (TETS)
3. OTa KHUra MHe KaXXETCS (CKy4HbIN) . 6.Cyn endr (NoXxka)

@ Repeat the sentences, using the words in bold in the instrumental plural.

. 91 noobepan ceroHsa ¢ HOBbIM KOJINErow.

. 91 Moy Ha BeYepUHKY CO cTapbiM 3HAKOMbIM.

. 91 xoguna B TeaTp C NOpPAYroi.

. ¥l esgmna no Poccun ¢ pycckum gpyrom.

. 9 vrpana c 6paTom u cecTpo.

. A prcyto KapaHpawwom.

. Mbl NO3HAKOMUIUCb C PYCCKUM NucaTenem.
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. YTo BbI genaete ¢ aTUM cnoBapém?

9. Y HUX eCcTb CnasibHA C Y3KOW KPOBaTbHO.

10. 310 YenoBek Co CTpaHHON uaeen.

11. Y10 BbI OyaEeTE OENaTh C rocTem?

12. Kak MOXXHO »XTb C TaKUM YesioBeKom?!

@ Try a few examples with the instrumental plural forms of these pronouns and special modifiers.

1. Kyga mbl ¢ (OHW) novaém saeTpa? 4. OHu ctam (Mown) NYULLMKW OPY3bAMN.
2. OHU He xoTaT 60/1bLLE C (Mbl) BCTPEYATLCA. 5. $1 He cornaceH ¢ (BaLuw) MOEAMN.
3. YT0 penatb co (Bce) (aTn) KHurammn? 6. 9l He 3Hakoma ¢ (Te) NoObMU.

@ Most plural endings may be easy, but they are sometimes confused. Simply name the case of the highlighted nouns below.

1. Co cnvBkamm ( ) W 6e3 CNMBOK ( )? 4. 51 y>ke No3HaKoMMIach CO BCeMM ( ).
2. MNpocheccop gan cTyagHTam ( ) MO y4eBHMKY. 5. Y70 Thl 3HaELLb O PYCCKMX NUcaTensx ( )?
3. OHu o4eHb aobpble. OHU BeeM ( ) MOMoratoT. 6. Tbl 0 Hac ( ) 3a6b11? [M03BOHKU HaMm ( )L

@ All of the situations below call for declined forms of mHaro. Give them based on the context.

1. MNpodheccop pacckasan Ham O B2XKHbIX PYCCKMX NUcaTensx.

2. XKnaHb 13 3TUX Nucartesnen tblna He Q4eHb CHACT/IMBaS. N3 HUX YMEP/ IV MOIOAbIMU.
3. Mow cocen, — 4enoBek co npobnemamut. Mbl C HM FOBOPUM O NM4HOM (personal).
4. (NtoasM) He HpaBUTCS onepa, HO s e€ o4eHb NtobLo!

@ Give the appropriate forms of the words in parentheses.

1. — Ha (ckosbKo) A3blKax Bbl roBopUTe? — Ha (HECKOJIbKO)

2. Y MeHg MHOIro Apy3el, HO 9 PEryNgpHO BCTPEYAKOCh TOMMBKO C (HEKOTOPbIN) 13 HUX. 2Kanb!

3. MNpodheccop pacckasbiBaeT O (CTONbKO) nmcaTensx, YTo s UxX BCex yxxe nepenytan (gotten confused).




